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(b) Give an example of polynomial function,
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3. Answer any four from the

Define the rank correlation coefficient.
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Mention two differences between
correlation and regression analysis.
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If two regression coefficients are 0-8 and
}-2, then find the correlation coefficient.

TR BF B T 0-8 W 12 =, (oc3
TIE QT Tferea |

f .
questions : ollowing
o SRPHRA 1 R CRIeT Bk s forey
(a)

A25/837

Examine the continuity of the following
function at the point x =1 -
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Establish the relationship between
average cost (AC) and marginal cost (MC)
by using product rule of differentiation.
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Marginal revenue function is
MR =50 - 40, where Q is quantity. Find
the average revenue (AR) function.
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(/ Find the output level at which the
- guiede ~average cost (AC) is minimum, given
\fzot\a.l cost TC=20Q% +50 +18.
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# ".__erte the properties of Karl Pearson’s
U 22 correlation coefficient.
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fh) Write a note on the least square method
of estimation of regression line.

SR @41 AFT 591 Pered 9 “Tafeq Ry
951 (BT fore |

4. Answer any two from the following

questions - 10%x2=20

O SRPTIRA °R1 R i 7o TR for
(@) Total revenue function js given as
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Find the marginal revenue (MR) and
average revenue (AR) functions.
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(b) Marginal cost (MC) is give
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MC =3x? -4x+3 SQ”E*W
where x is output. Total fixed cost 1S 3

Find total cost (TC) when x =10.
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(c) Given total revenue (R) and total cost ©)

functions

R=30q-q°
C=q® -15g* +10g+100

where gis output. Find maximum profit.
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(d) Calculate Karl Pearson’s correlation
coefficient from the following data :
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